|
ox
I
=
ng
ol
2
=
i3
=
o2
4
i

[EA] H312MA] <PHE 2023.3.17.>

OOl BMMT SO BA|_ZHHAA
f

% FIEO| 2Fd Y-S 9 2Agsl FAI7] HIFUIC (H12)
H1 2
x [10l= "= o SEES Lt
1. 7| 2Ake
At (M Z|2h): 2023H01E01Y ~ 20231231 [V] H7|2A| [ ]allAbZA]
= . AR SERHS
TOIMOIS B | Aleheel st S n| st @ArEA e = 214-82-071 %
@o—n:n_o [} = ha (—?—%Hn_'li)
QCHEA Lxx @EEHEY 2001509920
MZEEATANZF M= 2 396 Z52Y SIS
®AYZ| s ARSI E ©ZBIHS /M A 02-2220-1650 /
@OEH|O|A] A OHMARHEA kfma.org@gmail.com
OFFd =823 071822 8¢9 [ 1527175 [ ] Le173 [VIZIE
DAY o S8 ~ptu|deHele 7 J Aol 2ot i3
@EERY [ A e el [VIAtchdel [ Jfele= B = ol [ [S371& [ 171&t
BIANERE |78
@2EFA [IZHel [171ed [ 17Hel-21 [ 1524 [ IR Rk=I et [ 1716t
®O[At 6 & |®AFAZALR HOIQI 4 o 3
R 0y
2. A S RAEE (EH1: &)
& @A A = Al Ol ZE
= = @& org | L35 2 | @38 | @7Emy
= =
@ A (@=0b+0) 207,199,396 0 0 0 206,288,756 910,640 750,740
b 3UZSAHAIH 206,288,756 0 0 0 206,288,756 0 0
© 7|EtA S 910,640 0 0 0 0 910,640 750,740
3. T ¥ (Et1: &)
JESENS
_ RN DA QA CEMEC =y
T A . - AIHIA T = e =
OaA | ®/|FRa | Oz |08 | OY|E = 5}0] ok
@ 24 (@=0+0) 260,294,205 | 249,616,593 115,800,000 0 9,510,000 124,306,593 5,847,926 4,829,686
baUZ2HAIA 162,336,279 | 157,506,593 115,800,000 0 9,510,000 32,196,593 0 4,829,686
©7|EtAME 97,957,926 | 92,110,000 92,110,000 5,847,926 0
4. 5| SE (291 &)
COAIH|E OARR| [@1n]=2H
22 @2_74| Abod Gt o2 |:||£?_ = }\|.o-|_$_|:||:t
= A lean | Q| 2RSS | @ | i [TEga
T o S — S S (D= |
@ A (@=0+0) 259,262,993 [ 254,433,307 161,305,067 0 0 93,128,240 0 4,829,686
OEUSHAIY 161,305,067 | 161,305,067 161,305,067 0 0 0 0
© 7|EIAS 97,957,926 | 93,128,240 93,128,240 0 4,829,686
5. gelzt
=02 = Z4tMet ZLM0| ZE2E A & EilMSE dESIRCH, Y EEE AEst ] g4 ot A4d5tUES &
QlgfL|ct
CHEAL: MEX Erol X} 202440308

FEM 2 S0IMIR) M50=2f3/1¢et - M4 & 22 Al M43x2[30] w2t Sl 52

210mmx297mm [ AHX| 80g/m* BE= S & X| 80g/m*]



(®5%)

A FEHAIY M3 E

bofl 7| Ml 2l 2l 2 M ALY &3
1_E|o| o|21} A Rof ahHEl 17 U o7 ekE 3|9l JF

o
¥ A

@w.m#@.o’
o 2
—|n

3t5|x| U oA M E Wk
J|Etsts| o] 2 MEtMol| T Q5 ALY

APO*LHc,( =2H3 Jts)
[ J23tol=(251100) [ JAXZ=(2E=1200) [ ]7|EF 2 32[ol[o]M & SAF 28(Z=1300)
[ 125 2 55 W(ZE2100) [ ]DSWS(FE2200) [ ]7|EFRS(Z=2300) [V]SHad (2 =2400)
[ 1282 E=2500) [ ]¥9 FolE (2 E=2600)
[ 198 2 HEAM(ZE3100) [ ]2 (ZE3200) [ [HA A2 2 2770 (Z=3300) [ ]7]6 EAME|A(ZE
3400)
[ JAMEISX(ZE4100) [ 121245 2 25(2E=4200) [ 145 x| 2 2E(2=4300)
[ ]12t4(=2=5100) [ | 5=(2=5200)
[ 12, Atsl 2 X[GAEIIEH(ZE6100) [ [FH(ZE6200) [ |28 ¥ 22 (ZE=6300)
[ A8 ¥ SSEA(ZE7100) [ JHE & HEMH|A(ZE7200) [ J™ XS (2 =7300)
[ JHHE(X|2)) ZHEH(E=8100) [ | 2AISA(Z=8200) [ |Z2&=(2=8300)
[ |=ZH&S(229100)
[ [BWEH 2 S 23 oA (2 =10100)
[ HIXHAATHEE11100) [ [ 27H4EH(ZE11200) [ =& =&H(ZE=11300)
[ )

=
N
n
7|
n
—
o
(@)

@At &

[ 125 ahS [ Jots [ [HaE [ [l [ [Zofel [ ]el=el(ctzah [ 17HF od
[ JLEHS [V]Z|EF

@=L =2 AtAX|S

WIE= [ M [ 1F8 [ 1™ [ ™ [1EF [T [ 1=2a [ 123 [ 1871
(1B [ 1ES[]1sE [ 1SS [ 18E [ S IMS [ A= [ i g eis

® =2 F2 AIEX

[ JHMA [ ]7& [ JotAlot [ ]=otH 2|7} [ Jot=2lZt [ ]12AM|ot ot [ ]Efotm 2|7t

| = H= = T
1 A= 2400 AL = Cf3) A4Sl 2 53,733,173
AEUE iRl sas ApoiZ| e
2 A= 2400 A ATz AP 4=5HH| 2 81,217,524
AMEUE AP HEZ AR =
3 = 2400 AL 55| 2| gk 7t A 4=5HH| 2 20,040,590
A LHE 515|2| LAY AFIZ| 2 P
4 19| AR 1 ZHArRI2sHH 2 6,313,780 &
7 £ ZoI=H AL 4 JHArRI4RH|E B 161,305,067
2L

6. SAUATHAIY M EHE

b ' OBASHAY HEYete SoYelse] HEa NRSHAS] £ AR, AN U S%AE S35 Mgt

F'@OAIE U2 SUMIS0| MM Z st Ue Aol BF JEE FUCH 23 T 23UE E5F Aol s 2SHAHL X[ @St <=

"o 2 (X ) MEHZ =8100)"0ll VEES 6t1, 23 T ZFHS 40| EF & chAof X|¢shks dRoll= "23ES(ZE8300)"0 VEE g At
ALiE2 E2SA A7t TS CHol : MTHo|HAM ALSSXICHH S X|2lots 22, "t 2(XI1)) eIt "AS| SX|" 25 VEE g o).

Ch @FE G7K [ Jols SYHISo| A Z s sts Al AlATHA, FUHFQAIEXYS, ZoF AR X o] siEfe = Xoll 2F VEE &
=

2t @22 SASHAIL S| AlE AN (AY, AL E, AR E, AAIH)E HEHCL ZE= "OAIRIUE ol sl D5t ZEE HaH
b= I
=

2

B2 370 Atde AlAME2 B2 M, LHHX[S ‘3 9 Aldofl 2itstod A

210mm X 297mm[ ¥ AX| 80g/m* EE= ZAX| 80g/m*]



